
EXPLODED VIEW KEY:
KB = Kit Build, AL = Alloy, BR = Brass, Op = Option,
L = Left, R = Right, Hi = High, Lo = Low,  3H = 3 Hole,
FL = Front Left, FR = Front Right, RL = Rear Left, RR = Rear Right,
CF = Carbon Fibre, Ti = Titanium, St = Steel, KC = K-Coat,
Mf = Medium Flex, Sf = Stiff Flex, CNC = Machined, Pro = Precision Bearing,
Ce = Ceramic Bearing, CFf = Carbon Fibre Filled, Lw = Lightweight.

1/10th Scale 4WD Pro Touring Car

www.racing-cars.com

IF
M

A
R

 4
 T

IM
E WORLD CH

A
M

P
IO

N
S

U8725 KB
U8776 AL
U8777 AL+0.5

U8725 KB
U8776 AL
U8777 AL+0.5

U8725 KB
U8776 AL
U8777 AL+0.5

U7790 KB
U7866 Lw

U8316 KB
U7837 CF

U8563 CF
U8645 AL

U8757 KB
U8781 Op

U7783 KB
U8775 Op

U8728 KB
U8729 High

U8728 KB
U8729 OpHi

U7738 KB
U7816 AL

U7832 KB
U7828 Ti

U7750 KB
U8323 CF
U8335 BR U8778 L

U8758 R
U8780 OpL
U8779 OpR

U8568 CF (1P)
U8570 CF (2P)
U8571 S2 (2P)

U7750 KB
U7839 CF
U8334 AL

U7750 KB
U7827 AL

U7537 KB
U7536 3H

U8714 KB/AL
U8770 KC

U8717 KB
U8772 AL

U8725 KB
U8776 AL
U8777 AL+0.5

U8711

U8790

U7735

U8748

U8748

U8723

U8723

U8723
U8790

U7827

U7750

U7750

U7750

U3131

U3131 U119

U7122

U7103

U7122

U3023

U7538

U8235
U8783 

U8263

U8710

U8713

U7107

U7750

U7463

U7545

U8716See Above
See Below

See Page 40

U8718

U7102

U8792

U8740

U7731

U8232

U8794

U4862

U4862

U7711

U8794

U7104

U8794

U7104

U7781

U4557U8715

U8797

U8712

U8724
U7463

U7463

U7677
U8723

U7677
U8723

U8749

U8749

U8724

U3136

U3136
U8723

U8726

U8726

U7735

U1960

U7750

U1960

U4987

U7710

U4254

U8727

U4835

U4155

U3021

U4155
U3022

U8536

U3021

U4773

U8262

U3022
U8790

U8801

U8750

U8750

U8168

U8536

U8798

U8798

U1633

U8732

U8733

U8733

U8731
U8735

U8735

U8734

U8736

U7104

U7710

U7711
U7103

U7103

U8252

U8263

U8263

U8737

U8784

U7751

U8793

U8793

U8737

U8264

U8733

U8742

U8736

U8735

U7834

U7834

U8741

U4254

U4254

U1633 U8747

U8745

U3022

U8168
U8168

U8168

U7103

U7103

U7747 U4862

U8769

U8769

U8794

U8752

U8752

U7747

U7103
U7104

U7104

U8261

U8219

U8219

U8259
U8259

U8261

U8261

U7712

U7834

U8755

U8261

U7103
U7104

U7104
U7710

U7711

U7105

U8753

U8756

U8747

U8784

U8744

U3022
U4836

U7105

U7105

U8760

U8792 U4241

U8740

U4254

U4254

U7106
U3021

U4862

U7712
U7712

U8265

U8783

U8748

U8748

U8721

U7106

U8316

U4987

U8767

U7103

U4943

U4900

U4900

U4900

U4900

U3021

U8794

U8794

U3021

U3021

U8756

U8753

U3021
U3021U8263

U4254

U7769U4904

U7102
U7102 U1411

U4903

U4872U2128

U1411
U1411

U3023
U4943

U1411

U7773 U7773

U7773

U4950U7105

U3022

U8790

U8722

U3023

U8754

U8168

U8784

U8747

U8745

U8761

U7751

U4836

U8168

U8784
U8747

U8745

U3022

U7779

U3021

U8336
U4950

U7834

U7735

AM348069 -  Spur Gear 48dp - 69T
AM348070 -  Spur Gear 48dp - 70T  
AM348071 -  Spur Gear 48dp - 71T
AM348072 -  Spur Gear 48dp - 72T
AM348073 -  Spur Gear 48dp - 73T
AM348074 -  Spur Gear 48dp - 74T
AM348075 -  Spur Gear 48dp - 75T
AM348078 -  Spur Gear 48dp - 78T
AM348081 -  Spur Gear 48dp - 81T
AM348082 -  Spur Gear 48dp - 82T
AM348083 -  Spur Gear 48dp - 83T
AM348084 -  Spur Gear 48dp - 84T
AM348085 -  Spur Gear 48dp - 85T(Kit)
AM348086 -  Spur Gear 48dp - 86T
AM348087 -  Spur Gear 48dp - 87T
U7821 -  Spur Gear 89T 48dp CNC

AM364090 -  Spur Gear 64dp - 90T
AM364092 -  Spur Gear 64dp - 92T
AM364094 -  Spur Gear 64dp - 94T
AM364096 -  Spur Gear 64dp - 96T
AM364098 -  Spur Gear 64dp - 98T
AM364100 -  Spur Gear 64dp - 100T
AM364102 -  Spur Gear 64dp - 102T
AM364104 -  Spur Gear 64dp - 104T
AM364106 -  Spur Gear 64dp - 106T
AM364108 -  Spur Gear 64dp - 108T
AM364110 -  Spur Gear 64dp - 110T
AM364112 -  Spur Gear 64dp - 112T
AM364114 -  Spur Gear 64dp - 114T
AM364116 -  Spur Gear 64dp - 116T

U7820 -  Spur Gear  64dp CNC - 120T
U8318 - CNC Stock Spur 64dp - 92T
U8253 - CNC Stock Spur 64dp - 98T
U8254 - CNC Stock Spur 64dp - 104T
U8255 - CNC Stock Spur 64dp - 108T
U8785 - CNC Spur Gear 64dp - 112T
U8786 - CNC Spur Gear 64dp - 113T 
U8787 - CNC Spur Gear 64dp - 114T

U8719 KB
U8782 Ti

U8751 KB
U8768 AL

U8743 KB
U8730 AL

U8790 KB
U8799 Pro

U8790 KB
U8799 Pro

U8320 KB
U8572 Pro

U7794 KB
U7822 Pro

U4943 KB
U4945 Pro

U8743 KB
U8730 AL

U4904 KB
CR280 Ti

U4904 KB
CR280 Ti

U8719 KB
U8782 Ti

U8751 KB
U8768 AL

CR024 CORE RC - Serrated M4 Steel Wheel Nut pk4 St
CR035 CORE RC - Serrated Alloy M4 Nuts; Blue  pk4 AL
CR036 CORE RC - Serrated Alloy M4 Nuts; Violet  pk4 AL
CR196 CORE RC - Serrated Alloy M4 Nuts; Black  pk4 AL
CR304 CORE RC - Titanium Wheel Nuts M4 - pk4 Ti
CR879 CORE RC - Serrated M4 Steel Black Wheel Nut pk4 KB
U7400 Titanium Low Profile M4 Serrated Nut pk4 Ti

U8738 Front Double Joint Driveshaft - Mi9 (pr)
U8739 Rear Driveshaft - Mi9 (pr)
U8788 Nano Shock Set - Mi9 (pk4)
U8789 Gear Diff Set - Mi9
U8791 Ball Bearing Set - Mi9
U8800 Pro Transmission Ball Bearing Set - Mi9

AX034 Aerox Handed Body Clips - Black (pk8)
U8336 Pro Body Clips (pk 10)
CR060 Small Body Clip 1/10 - Gloss Black (8)
CR061 Small Body Clip 1/10 - Silver (8)
CR062 Small Body Clip 1/10 - Gold (8)
CR063 Small Body Clip 1/10 - Fluoro Yellow (8)
CR064 Small Body Clip 1/10 - Fluoro Green (8)
CR065 Small Body Clip 1/10 - Fluoro Red (8)
CR066 Small Body Clip 1/10 - Metallic Green (8)
CR067 Small Body Clip 1/10 - Metallic Red (8)
CR068 Small Body Clip 1/10 - Metallic Blue (8)
CR069 Small Body Clip 1/10 - Metallic Purple (8)

K214 Mi9 - C/F - Kit
K215 Mi9 - Alloy - Kit
U8795 Manual - Mi9
U8796 Decal - Mi9

U8333 Wheel Hex Spacers 0.25, 0.5, 0.75mm - (pk12)
U8720 Alloy Wheel Hex - Mi9 (pr) KB
U8762 Alloy Narrow Wheel Hex (-0.75mm) - Mi9 (pr)

CR840 CORE RC Hi Response TC Spring 1.9 - White
CR841 CORE RC Hi Response TC Spring 2.1 - Red
CR842 CORE RC Hi Response TC Spring 2.3 - Green
CR843 CORE RC Hi Response TC Spring 2.5 - Blue
CR844 CORE RC Hi Response TC Spring 2.6 - Black
CR845 CORE RC Hi Response TC Spring 2.7 - Orange
CR846 CORE RC Hi Response TC Spring 2.8 - Yellow
CR847 CORE RC Hi Response TC Spring 2.9 - Purple
CR848 CORE RC Hi Response TC Spring 2.2-2.9 Brown 
CR849 CORE RC Hi Response TC Spring 3.1 - Grey
CR850 CORE RC Hi Response TC Spring 3.3 - Pink
CR851 CORE RC Hi Response TC Spring 3.5 - Grn/Yellow
CR852 CORE RC Hi Response TC Spring Set - Soft
CR853 CORE RC Hi Response TC Spring Set - Med
CR854 CORE RC Hi Response TC Spring Set - Hard
U7539 Ultra Short Shock Springs 3.0 pr

U8790 KB
U8799 Pro

U8763 RR
U8764 RL

U8765 FR
U8766 FL

U4741 - Kit (pr)
AX030 - Aerox On-road Alloy Servo Arm 23T
AX031 - Aerox On-road Alloy Servo Arm 25T
AX067 Aerox LP1s Servo
CR465 - 23T - Alloy
CR466 - 25T - Alloy
MR33 AAS23T - MR33 Adjustable Servo Horn 23T
MR33 AAS25T - MR33 Adjustable Servo Horn 25T
U4328 - Impact Servo Saver 23/25T
U8709 - Pro TC Impact Servo Saver

05/04/2024

®


